100m

8 1131 1 7.69 2 | 669 4.13 |+0.4m 1 | 539 ]13.99 [-0.7m| 667 | 1875 1
3 541 1 6.43 1 | 543 | 4.24 |+1.2m 2 | 572 114.33 | -2.3m| 616 ] 1731 2
6 1174 1 7.88 1 ] 688 3.42 |+0.6m 3 | 326 ]13.80 [-0.7m| 696 | 1710 3
5 544 1 5.54 1 14541 4.30 |+1.5m 2 | 590 J14.32 | -0.7m| 618 | 1662 4
11 1133 1 7.96 2 1 696 | 3.47 |+0.9m 1 | 341 ]14.35 [-2.3m| 613 ] 1650 3)
1 519 1 5.86 3 | 486 | 3.78 [+2.6m[ 3 | 434 |14.10 | -0.7/m) 651 | 1571 6
10 525 1 6.19 2 | 519 ]| 3.88 |+0.5m 1 | 464 |14.94 |[-2.3m| 525 | 1508 7
2 521 1 6.94 3 [ 594 ] 3.63 [+1.Im 1 | 389 |15.53 | -2.3m| 451 | 1434 8
9 529 1 5.54 2 | 454 | 3.72 |+1.9m 3 | 416 |15.19 |[-0.7m| 487 | 1357 9
7 1170 1 6.33 3 [ 533 | 2.62 [+2.2m 2 | 86 ]14.28 |-2.3m| 624 | 1243 | 10
4 538 1 5.36 3 [ 436 | 3.42 [+2.1m 3 | 326 J]16.23 | -0.7m| 381 | 1143 | 11
12

13




1 525 1 6m1s 6m19 6ml7/ 6m19 2
2 519 1 om22 om4’ om86 om86 | 3
3 521 1 6mo9 6m80 6m94 6m94 [ 3
4 1131 1 6M66 /me9 /m40 /m69 2
S 1133 1 6m97 /m96 /m91 /m96 2
6 1170 1 om98 6m00 6m33 6m33 | 3
/ 544 1 om54 4m96 om31 Sm54 1
8 529 1 om23 oms4 4m87 omb4 | 2
9 541 1 6m43 6m13 6m42 6m43 1
10 1174 1 /m88 /m36 /m60 /m88 1
11 538 1 om20 4m78 om36 om36 | 3




1 1131 1 Am13 |+0.4m| 3m94 |+0.4m| 4m11 [+1.5m] 4m13 |+0.4m 1
2 1170 1 x om62 |+2.0] 2m57 |s2.10| 2m62 [s2.n] 2
3 541 1 3m79 |+2.om] 4m24 |+1.2nf 4m18 |:o.off 4Mm24 |+1.2m 2
4 1133 1 347 |+0.00 3m40 |+s.60] 3m4d |s2.00] 3ma7 [s0.on] 1
5 519 1 3m23 |0.2n] x 378 |+2.61 3m78 |r2.6n] 3
6 538 1 om77 |+1.10] 2m65 |+1.6n 3m42 |s2.10] 3ma2 2] 3
/ 544 1 4m05 |+2.4m| 4m30 |+1.5m] 4m26 |+1.3m] 4m30 |+1.5m 2
8 521 1 363 |+1.10] 2m48 |+1.10] 3m60 |+0.0] 3m63 [+1.1a] 1
9 525 1 3m88 |+0.5m| X 3m69 |+1.2nf 3m88 |[+0.5m 1
10 1174 1 332 |+2.10] 3mal |+1.7] 3m42 |so.en] 3ma2 [v0.6n] 3
11 529 1 X 3m66 |+0.6m| 3m72 [+1i.om] 3m72 |+1.9m 3
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538
1174
544
1131
519
529

-0.7m

N N T T Y =N

(6) 16.23
(€D) 13.80
(@) 14.32
(2) 13.99
A3) 14.10
5) 15.19

~N o 01 A W

D100m

1170
521
541
525

1133

-2.3m

Y

(€D) 14.28
(5) 15.53
(2 14.33
(O)) 14.94
A3) 14.35




